Divide Decimals by
Powers of 10

Easy

1.5+10"=C__ ) 28 +10°=C__ )
32+10=(_ ) 6.5 +10=___)

) 25 10°=C__) 43+10° =)
A 62+10*=C__ ) 1.3=10*=C__ )

Medium
0.42 +(_)=0.0042 3.07 +(_)=3.07
3.03+(__)=0.00303 20.2+(_)=0.202
2.61 ()= 261 11.7+C_)=0.00117

- Hard
W) (" )+102=0.00138 (__ )+ 10" =68.02
— e ()+102=002039 (=10 = 0.02985
jﬁ (_ J)+10*=0.000507 (__ )+ 10%*= 0.02699
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0.138 ~10% = 0.00138

Divide Decimals by
Powers of 10 (Solutions)

Easy
1.5+10'=0.15
3.2+ 10°= 0.0032
2.5+10%= 0.025
6.2 +10%= 0.00062

2.8 +10° = 0.0028
6.5 +10%?= 0.065
4.3 +10° = 0.0043
1.3 +10* = 0.00013

Medium

0.42 +10% = 0.0042
3.03 = 10° = 0.00303
2.61 10" = 261

Hard

 _§

2.039 =107 = 0.02039
0.507 = 10° = 0.000507

3.07 +10° = 3.07
20.2+10% = 0.202
11.7 = 10* = 0.00117

680.2 + 10" = 68.02
29.85 +10° = 0.02985
269.9 +10* = 0.02699
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